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Answer Key
Skill #1 Use Order of Operations
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Skill #2 Write an algebraic expression to represent a situation or to generalize a pattern.
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Skill #3 Write equivalent expressions using properties
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Skill #4 Write and solve simple equations with one variable
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[bookmark: h.gjdgxs]Skill #5 Recognize and use the Distributive Property
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Skill #6
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Skill #7 Solve absolute value problems
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Skill # 8 Find the interquartile range and mean absolute deviation for a data set.
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One study asked fifth and sixth graders this question:
What number will make this number sentence true?

g+a-D0+5
76% of the students said the answer is 12.
21% said the answer is 17, and 2% said the answer is 7.

a. Why do you think most students chose 12?
Sample answer: Because 8 + 4 equals 12

b. How would you explain to a friend why the correct answer is 72 Sample answer:
Since 8 + 4 = 12, you find some number that will make

the expression on the other side of the equal sign worth 12.
Because 7 plus 5 equals 12, the correct answer is 7.
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For each equation below, decide how many numbers will make the equation true.

a.2+b=b+2 None One
b.d*5=5%d None One
c.f-4=f—3 Many One
d.e*%:e+3 None One
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Write two equations to represent the area of Rectangle B.
6 . 5 .+ 4 54
6 . 5 .6 ., 4

54

The area of Rectangle C is 144 square units.

. Write two equations to represent the area of Rectangle C.

12 . 6  +y=144
12 6 )i 12 Ly-144
b. What is the value of x? O

Rectangle B

B
4
6
Rectangle C
12
6 x
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Circle the equations that are examples of the Distributive Property
2. (B0 + 5) + (120 + 5) = (80 + 120) £ D b. 6+ (3~ 0.5) = (6 * 3~ 0.5

d. (16 * 4) + 12 = (16 + 12) * (4 + 12)
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a. Name four numbers that are solutions to x > 4.

Sample answel 42 100
b. Name three numbers that are NOT solutions to x > 4. SAMple answer: 4, 0, —6
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Alligator Adventures takes people out on a boat to see alligators
inthewid. Sample answers given.

© The boat can hold a maximum of 10 people.
The number of people in the boat varies each trip.

a. Define a variable: L€t X be the number of people in the boat.

b. Explain which numbers do not belong in the solution set.

People can’'t be negative numbers or fractions.

c. Record inequality number models:
x = 10 and x = 1, x is a counting number

d. Graph the solution set that makes both inequalities true.

[ 5 10 15
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q <5 All numoers less than 5

st >
4 5 6 7 8 9 10

-5 -4-3-2-10 1 2 3

‘w>—-3_All numbers greater than —3
e
4 5 6 7 8 9 10

-5 -4 -3 -2 10 1 2 3
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For Parts a-f, tell whether each number sentence is true or false.

a g =a __True b -4 =4 __True

¢ |-a > -a True 6 —12=|-1g _False

e. |25 < 26 __True t|-4>3 _ True
False

g. Tell whether this statement is true or false: |x| can never equal —x.

Explain. _If X < O then [x| = —x. For example, |-1] = —(-1) = 1
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For Problems 2-4, do the following:
« Plot the numbers on the number line.

« Answer the question.

« Circle the number model that SUppOrts Your answer.

© shaun is @ seconds behind the leader in a bike race. Kayla is 4 seconds behind the leader.

T Y e
-10 -6 -4 -2 o 2 4

Shaun

Who is farther behind the leader?

—a>-4) o -a<-4

@ charlie is in a submarine 300 feet underwater. April is in a submarine 500 feet underwater.

- - +~ - ¥ - - —
~500 —400 -300 -200 ~100 O 100 200 300 400 500

Whose submarine is farther from the surface of the water? April's

[-500] > |-300]) or  —500 < —300
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City 3 (Phoenix, Arizona)
Minimum:54 Maximum: 93
Median: 725

Range: 39

Q1:60 (Q3:875

IQR: 275

Mean: 73 m.ad. 127
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Insert parentheses nto these numerical expressions o they equal the target numbr.
Rememoer that parentheses mean *do ths frst”

Numerical Expression Target Number
© (063 12
© wei-f-o 1

© (4-8)+{ar2) 2
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@ messe2-s @ 1-5+10

26+30-6 18 — 5 + 100
56 -6 13 + 100
50 113
@ so+70+2 @ 3a+1-20:6
50 + 35 39+1-4
85 40— 4

36
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A gum ball machine takes only quarters. Write an algebraic expression for the total value of
money in the machie

a. Deineyour vrae, LEL X be the number of quarters in the machine.
5X

b. Agebraio expression

Last month Lenare sen 16 more tex messages than her sister K. Wrte n aigebrac
exprssion for th e of ext messages Kaya set 2t montn,
a. ein your voroe,LEL ] bE the number of text messages Lenore

b Algebraic expression: | — 16 sent.

Davi's grade o his second auiz was 3 points hgher than his rade o 1 it iz
Wite an expression for the totalaurmber of points Dauid earned on both quirzes.

2. Define your varabi, LEL Z be the number of points on the first quiz.
Possible answers:
z+(2+3),22+3

b. Agebraic expression
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2. 18%1=18 275%1=275 1=

5* 1=
Description: S@Mple answer: The product of a number and 1

is the number,
Equation that generalizes the patiern: _X ¥ 1 = X _

s

6+0=0 %vo:o 787%0=0
Description: S@Mple answer: The product of a number and O

is 0. —
Equation that genéralizes the pattern: _L ¥ O = O

1o 1 1
c.5%f=1 100+ g5 =1 1205 % 5 =1

(The variable In this pattern cannot equal O because division by O is not defined.)

Description: S@Mmple answer: The product of a number and its

reciprocal is 1. 1_
Equation hat genbraies the patiem: 1% & = 1, Where n # O
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For each equation, use the general equations for properties on journal page 187 to identify
whether it is true or false. Then list the property that applies, of explain why none apply.

a3+4=4+3_TTUE

Property: Commutative

@rpromsr@sa_Tue

L4

Property: Associative

c(6+8)-(5+8=(6-5s5_11UE__

Property: Distributive

4 @+7)ra=@+a=:7_False  Sample answer:
propeny: The values of the two expressions are not equivalent.

e (856~ (8%5)=B-6)=(@E-5_alSE
property: Sample answer: Exchanging the operations does not

produce equivalent expressions.




